

Name: _________________________________________
Accelerated Angle Relationships Homework #1

Find the value of the variable and find the m<PQR. Justify steps! 
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  bisects <CBE and bisects <ABE. Justify your steps. 
4. If and , find the possible value(s), if any, of the . You must check your work for credit. 
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  bisects <CBE and bisects <ABE. Justify your steps. 
5. If and , find the possible value(s), if any, of . You must check your work. 
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Decide whether the statement is true or false. If the statement if false, reword the statement so it is true. 

8.	Two angles are complementary if the sum of their measures is 180°


9.	Two angles are supplementary if the sum of their measures is 180°


10. 	Two angles are adjacent angles if they share a common vertex. 


Determine whether the angles are complementary, supplementary or neither. 
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11.					12.					13.




Find the measure of the complement of the given angle. 
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14.					15.					16.




Find the measure of the supplement of the given angle. 
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17.					18.					19. 



Find the measure of EACH numbered angle. Justify steps! 
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23.					24.					25. 





[bookmark: _GoBack]


image4.png
Measures of Complements and Supplements

a. ZA is a supplement of ZB, and mZ B = 42°. Find mZA.
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b. ZCis a complement of ZD, and mZ C = 42°. Find mZD.
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Decide whether the statement is true or false. If the statement is
false, reword the statement so that the statement is true.

1. Two angles are complementary if the sum of their measures is 180°.
2. Two angles are supplementary if the sum of their measures is 180°.
3. Two angles are adjacent angles if they share a common vertex.

4. A theorem is a true statement that follows from other true statements.

Determine whether the angles are complementary, supplementary,
or neither.
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Find the measure of a complement of the angle given.
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Find the measure of a supplement of the angle given.
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Use the diagram to complete the statement.
14. Z1and _2_ are supplementary angles.

15. Z3and _2_ are supplementary angles. 7

16. _2_=_2 by the Congruent Supplements Theorem.

17. The foul lines of a baseball field intersect at home
plate to form a right angle, Z THF. You hit a baseball
whose path forms an angle of 30° with the third base
foul line. What is the measure of the angle formed by
the first base foul line and the path of the ball?
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Use the figure at the right to complete the statement.

1. Zland _2_are a linear pair, and so are Z1 and _?_.

><

2. Z2and _2_ are vertical angles.
3. It mZ3 = 150° then mZ2 = _2
4. 24

Find the measure of the numbered angle.
5. B~ 6. >< 7.
154>

Find mZ1, mZ2, and mZ3.
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Use the diagram to complete the statement.
M. mZKPL=_2_° 12. mLLPN=_2_° K

13. mZMPN = _2 14. mZMPO = _2 RN

Find the value of the variable. Then use substitution to find
mZPQR.

15.

18. The United Kingdom flag can be represented by four intersecting
lines that form cight angles. The horizontal and vertical lines are
angle bisectors, and the measure of Z1 is 26.6°. Find the measures
of the remaining angles.
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BA and BC are opposite rays, BF bisects 2CBE, and
BD bisects LABE.

3. If m/EBF = 6x + 4 and m/CBF = 7x — 2, find m2EBC.

4.1fms/1 = 4x + 10 and m£2 = 5x, find m£2.

5.1fmsz2 =6y + 2and ms1 = 8y — 14, find m£ABE.

6. Is £DBF a right angle? Explain.
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Identify Complements and Supplements

Determine whether the angles are complementary, supplementary, or neither.
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